.…BLM 3–10.…
Name: _________________________________

Date: ________________________

.…BLM 3–11.…

(continued)


Target A-3 Extra Practice 1
1.
Write down the words that fill in the blanks.

In a ____________________ triangle, the sum of the areas of the 
____________________ attached to the legs equals the area of the square 
attached to the ____________________.
2. a) Trace the right triangle below. Label the hypotenuse with t. Label the other legs of the triangle with r and s.

b)
Draw a square attached to each side of the triangle.
[image: image1.jpg]10 cm?

17 cm?




c)
Write the relationship of the areas of the 
squares, using variables and symbols. 
[image: image6.jpg]


3. a) Calculate the areas of the three 
squares shown. 
b)
Is the triangle a right triangle? Explain.
4.
Calculate the missing area of each square. Show your work.
	a)
	[image: image7.jpg]5cm

8cm

6 cm





	b)
	[image: image2.jpg]500 cm?

400 cm?







5.
Determine the area of the square that would be attached to the hypotenuse of each right triangle. 
	a)
	[image: image3.jpg]17 cm

26 cm




	b)
	[image: image4.jpg]7 cm

15 cm






Extra Practice Answers

1. right, squares, hypotenuse

2. a), b) 

[image: image5.jpg]



c) r 2 + s 2 = t 2

3. a) 25 cm2, 36 cm2, 64 cm2
    b) No. The sum of the areas of the two smaller squares is 25 + 36 = 61 cm2. The sum 
        does not equal the area of the large square. 61 cm2 ≠ 64 cm2

4. a) 27 cm2  b) 100 cm2

5. a) 172 = 289, 262 = 676, 289 + 676 = 965   The area is 965 cm2.

    b) 72 = 49, 152 = 225, 49 + 225 = 274     The area is 274 cm2.
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